© TooIPRO S TooiPRO
450kg Motorcycle Dolly

Instruction Manual

450kg Motorcycle Dolly

Instruction Manual

Manufactured and packaged for SRGS PTY LTD ABN 23 113 230 050
751 Gympie Road, Lawnton, Queensland 4501, Australia




WARRANTY

This product is guaranteed against defects for lifetime of the product. This warranty is
provided by Super Cheap Auto Pty Ltd ACN 085 395 124 (Supercheap Auto) of 751
Gympie Rd Lawnton QLD 4501 Ph (07) 3482 7500. Supercheap Auto will offer a repair,
replacement product or store credit if the product is assessed as being defective during
the warranty period.

To claim under this warranty, take this product to the Front Service Desk of your nearest
Supercheap Auto store. For store locations, visit www.supercheapauto.com.au (AUS)
or www.supercheapauto.co.nz (NZ). You will need your receipt or proof of purchase.
Additional information may be requested of you to process your claim. Should you not
be able to provide proof of purchase with a receipt or a bank statement, identification
showing your name, address and signature may be required to process your claim.

This product may need to be sent to the manufacturer to assess the defect before
determining any claim. Faults or defects caused by product modification, misuse and
abuse, normal wear and tear or failure to follow user instructions are not covered under
this warranty.

Our goods come with guarantees that cannot be excluded under the Australian Consumer
Law. You are entitled to a replacement or refund for a major failure and for compensation
for any other reasonably foreseeable loss or damage. You are also entitled to have the
goods repaired or replaced if the goods fail to be of acceptable quality and the failure
does not amount to a major failure.

Any expenses incurred relating to the return of this product to store will normally have
to be paid by you. For more information contact your nearest Supercheap Auto store.

The benefits to the consumer given by this warranty are in addition to other rights and
remedies of the Australian Consumer Law in relation to the goods and services to which
this warranty relates.

SAFETY INSTRUCTIONS

Maintain the dolly in good condition.

Replace or repair damaged parts. Use genuine parts only. Unauthorised parts may be
dangerous.

Locate the dolly in a suitable work area. Keep area clean and tidy and free from unrelated
materials, and ensure that there is adequate lighting.

Ensure that the floor is level and strong enough (preferably concrete) to take the weight of the
dolly and the motorcycle. DO NOT use the dolly on Tarmac, as the surface may be unstable.
Keep the dolly clean for best and safest performance.

The maximum motorcycle weight is 450kg. DO NOT exceed this rated capacity.

Use appropriate straps to secure the motorcycle to the dolly when manoeuvring (straps not
included).

When maneuvering with the motorcycle on the dolly, be sure to move slowly & smoothly to
avoid tipping the Motorcycle over.

Maintain correct balance and footing, DO NOT over reach. Ensure the floor is not slippery and
wear non-slip shoes.

Keep children and unauthorised persons away from the work area.

DO NOT use the dolly for a task it is not designed to perform.

DO NOT use the dolly if it is damaged.

DO NOT allow untrained persons to use the dolly.

DO NOT make any modifications to the dolly.

Before storing in safe area, ensure that all parts are clean and free of grease and oil.

INTRODUCTION/SPECIFICATION

2.1 Introduction

Motorcycle dolly holds a single motorcycle or sport bike with side stand, weighing up to
450kgs. Easy manoeuvring around the workshop or garage. Front and rear lever operated
wedge gates allow for easy loading and unloading to the loading track. Includes a side
stand platform to fit side stand, front/rear steel pins to keep the motorcycle on the dolly
during moving, and smooth rolling dual castor wheels.

2.2. Specification:

Weight Capacity 450kg

2070mm L x 815mm W x 75mm H
1950mm L x 200mm W

Product Dimension

Maximum Motorcycle Wheel Footprint*

* The “footprint” of the motorcycle is the total size of the tyres where they contact the floor.
Motorcycles come in many different designs — certain large or customized motorcycles may not
work properly with this dolly.




ASSEMBLY

figure 1

ASSEMBLY
ITEM | DESCRIPTION QTY | ITEM | DESCRIPTION QTY
1 CARRIAGE 2 12 “R*“ PIN 4
2 CONNECTING BAR 1 13 WASHER @12 4
3 FRAME ASSEMBLY 1 14 M8 X 16 BOLT 22
4 WEDGE GATE”A” 1 15 LOCK WASHER @8 24
5 CONNECTING PLATES | 4 16 FLAT WASHER @8 2
6 CASTOR 7 17 WEDGE GATE ‘A’
7 M6 X 16 BOLT 28 18 NUT M8 24
8 FLAT WASHER @6 28 19 M8 X 25 BOLT 2
9 LOCK WASHER U6 28 20 PLATFORM
10 NUT M6 28 21 RUBBER SLEEVE 2
11 STOP PIN 2

3.1. Assembly

Unpack the dolly and check contents with list above. Should there be any damaged
or missing parts contact your supplier immediately. Numbers in brackets refer to item
numbers in fig.1.

3.1.1. Attach the carriage (1) to the frame assembly (3) using M8 x 16 bolts (14), lock
washers @8 (15) and nut M8 (18).Attach the castors (6) to the carriage (1) and the
platform (20) using M6 x 16 bolts (7), flat washers @6 (8), lock washers @6 (9) and
nut M6 (10).

3.1.2. Connect the frame assembilies (1) with the connecting bars (16) using M8 x 55 bolts
(11), flat washers @8 (12), lock washers @8 and nuts M8 (14).

3.1.3. Fit the platform (20) and connecting bar (2) with the frame assembly (3) using M8 x
25 bolts (19), flat washers @8 (16), lock washers @8 (15) and nut M8 (18).the frame
assemblies (1) have 3 holes for fitting the platform (20) in various positions to suit
the particular motorcycle side stand position.

3.1.4 Fit the connecting plates (5) to the wedge gates (4) and (17). Attach the connecting
plates (5) to the frame assembly (3) using M8 x 16 bolts (14), lock washers @8 (15)
and nut M8 (18).

3.1.5. Insert the stop pins (11) in to the slots in the frame assembly (3) with ‘R’ Pin
(12),washers @12 (13).

3.1.6. Fit the rubber sleeves (21) to the wedge gates (4) and (17).

3.1.7. Check that all fasteners are fully tightened.




OPERATION

WARNING! Ensure that you read, understand and apply the safety instructions before

use.

WARNING! DO NOT attempt to overload the dolly.

4.1. Loading

4.1.1 Position the dolly in a suitable area, checking that the surface on which the dolly will
be used is solid and flat (preferably concrete).

4.1.2 Lower the wedge gates (4) and (17) to hold the dolly in position.

4.1.3 Remove the stop pin (11) from the frame assembly (3) at the end of the dolly the
motorcycle is to be loaded.

4.1.4 Push the motorcycle on to the dolly and support with the side stand on the platform
(20) and replace the stop pin (11).

4.1.5. Secure the motorcycle using suitable straps (not included).

4.1.6. Lift the wedge gates (4) and (17) to allow the dolly to be manoeuvred.

4.2. Unloading

4.2.1. Lower the wedge gates (4) and (17) to hold the dolly in position.

4.2.2 Remove the straps securing the motorcycle.

4.2.3. Remove the stop pin (11) from the frame assembly (3) at the end of the dolly the
motorcycle is to be unloaded.

4.2.4. Raise the side stand and remove the motorcycle from the dolly.

4.2.5. Replace the stop pin (11).

4.2.6. Store the dolly in a safe, dry, childproof location with the wedge gates (4) and (17)
lowered.

MAINTENANCE

5.1. Maintenance

5.1.1. Before use, check the frame assembly (3) and platform (20) for cracks and damage.
5.1.2. Regularly check that all fasteners are tight.

5.1.3. Periodically lubricate the castors.




